A O#H OB OR
EXA DHIFE MEER7ETPREKEMRELSE
5 Fr B AR T FE B # N i & A B SH3E5A25H
FEME 3,058,000 | H#)RHKI%E 3,025,000
ML X & A (110&5&@0@%&%) (115:‘%)%@%%) (1%&?051&;&)%%@) (11?6?‘%)%%0%%3%)
1 MASHREERRBELIE 2,750,000
2 XS AXBEEBHIER 2,850,000
3 |BEREHESRKE 2,980,000
4 |BAHLTRRE 3,000,000
A O#H OB OR
EX4A RABEE BERMEFEESEE LRKBARNKR BERIETE
5 Fr Bl AAR T O - B AN R i & A B SH3E5A25H
FEME 3,177,900M| H#)RKI%E 3,173,500
AL x & A (110&5&@0@%&%) (115:‘%)%@%%) (1%&?051&;&)%%@) (11?6?‘%)%%0%%3%)
1 |AR=HEERK 2,885,000/
2 |BRASHXLUNVIIE 2,913,000
3 |ARS#HXHIE 2,940,000
4 |AREHEEEK 2,950,000
4 |(ARz#/OYF 2,950,000
6 |HAXSHAITVY 2,970,000
7 |HASHXERE 3,000,000
iR |ARetENRE R




A O#H OB OR
= HHSEE mEMITMBREEX HHBRMBE BEREIE
1% A BT A AR T4 O - 811 A 2 Fi& AR HH3E5A25H
FRE M4 1,100,000 | H02#9%8 1,013,100
IR X & A (110&5&@0@%&%) (115:‘%)%@%%) (1%&?051&;&)%%@) (11?6?‘%)%%0%%3%)
1 | HASHRILNYVYTE 921,000M
2 |AR=#EREEK 953,000M
3 |ARS#HXHIE 960,000
4 |ARz#/OYF 980,000
4 |BAHXiBRE 980,000M
4 A AVTVY 980,000
7 |AR=tEERK 1,050,000
B |AR=ENRAE iR
A K O#H OB OR
= 4 SHSEE MEBITHMHRERX BHEEBRN 2R EEARRBIETE
% A BRT A AR 1 i A 2 P Ri& AR HH3E5A25H
FEME 671,000M| H#)RHI%E 671,000
110#%%?@?@% 610,000 %ﬁoﬁ)%ﬁﬁﬁ?ﬁ 610,007
— x & & (110&5&@0@%&%) (115:‘%)%@%%) (1%&?051&;&)%%@) (11?6?‘%)%%0%%3%)
1 |AR=#I/O09+ 610,000
2 |BRASHXLUNVIIE 650,000
3 |AR=#EREEK 670,000M
3 |ARS#HXHIE 670,000
5 |AR=#EERK 680,000M
5 |BA=HAITVY 680,000
7 |HRAEHXERE 700,000M
B |AR=ENRAE iR




AW OB RO
=g DHSEE MHEMIMBPREE HORMK RESHRKEIS
5 BT AR £ H A F+i & AH SH3E5H 258
F et 363,000F1| =#)ERH9EE 363,000/
Itz X & A (110&5&@0@%&%) (11%&)?&%&%) (1%&?051&;)%%@) (11%5%%%%%3%)
1 | XBRE 330,000M
2 |HRXEHXLUNYIIE 366,000
3 |BER=#EEESR 366,100
4 |HRSHXRAPITE 370,000
5 |[BAR=#/ /0% 380,000
6 |BR=#EBEESR 400,000
6 |[MXEHAUTYY 400,000
R |ARSENE R
AW OB OB O
= THSFE ERHFEREE RBMARNSKR ERHETE
5 Fr B A AR TSR 2R - 5 BT - AR )1 - LU T e MAEAH SF3ES5A258
FRE 4% 2,911,700 | H#)R2H%E 2,904,000
110#%%?@?@% 2,647,000F %goﬁ)%ﬁﬁgﬁ 2,640,000M
Itz X B A (110&5&@0@%&%) (11%&)?&%&%) (1%&?051&;)%%@) (11%5%%%%%3%)
1 |[ARZHMARZE L 2— 2,640,000
2 |KREHYHY 2,646,000
3 |BAR=#ERESR 2,647,000
4 |HAEHEIEAITHIE 2,660,000
AW OB OB O
= SHIBEE FILEEBHASEBRRT
5 BT A AR TH 7R 81| #a A F+i & AH SH3IE5H 258
F RE i1 3,999,668 H#)RHKIEE 3,982,000
110#%%?@?@% 3,636,062 %goﬁ)%ﬁﬁgﬁ 3,620,000M
Itz X B A (110&5&@0@%&%) (11%&)?&%&%) (1%&?051&;)%%@) (11%5%%%%%3%)
1 |LHRERELT H RKRE 3,620,000/
2 |[TMREHRELT FME M 3,650,000
3 |BER—ITHRERETZHHR 3,710,000




